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Order of Operations I




KEY



1. a.
In the expression “13 + 5 × 2 – 8”, which operation do you perform first?  Why?



5 × 2 because multiplication comes before addition and subtraction

b.
Perform the operation and rewrite the above expression substituting the answer you got from performing the operation.  



13 + 10 – 8 

       c.  Which operation should you perform next?  Why?



13 + 10 because addition and subtraction are performed left to right

d.  
Perform the operation and rewrite the above expression substituting the answer you got from performing the operation.  



23  – 8
e.
Now perform the remaining operation.  What answer did you get?     15
2. a.
In the expression “18 ÷ (7 – 4) + 3”, which operation do you perform first?  Why?



7 - 4 because we do parentheses first

b.
Perform the operation and rewrite the above expression substituting the answer you got from performing the operation.  



18 ÷ 3 + 3

      c.  Which operation should you perform next?  Why?




18 ÷ 3  because division comes before subtraction
d.  
Perform the operation and rewrite the above expression substituting the answer you got from performing the operation.  



6 + 3

e.  Now perform the remaining operation.  What answer did you get?    9

3. Find the value of each of the following numerical expressions.  Do one step at a time.
   

a.    6 × 5 + 20 ÷ 10

   


 b.     16 ÷ (5 + 3) − 1




32






       1
c.    28 – 3 × 6 + 7




d.        36 ÷ 4 × 3

   




17






      27

e.    17 – 6 + 8 × 3


          

f.    3 × 10 – (5 + 4)


35 






    21

4. Challenge problem:   Insert parentheses so that:  


(a)     (4  +  4)  ×  6  – 5  = 43    


(b)     4  +  4  ×  (6  – 5)  = 8

